
MATHS

BOOKS - BAL BHARTI

QUADRATIC EQUATIONS

Solved Example

1. Decide which of the following are quadratic equations ? 

Watch Video Solution

3x2 − 5x + 3 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CH13y69zfV5d


2. Decide which of the following are quadratic equations ? 

Watch Video Solution

9y2 + 5 = 0

3. Decide which of the following are quadratic equations ? 

Watch Video Solution

m3 − 5m2 + 4 = 0

4. Decide which of the following are quadratic equations ? 

Watch Video Solution

(l + 2)(l − 5) = 0

https://dl.doubtnut.com/l/_zNH8H2Mq4XbK
https://dl.doubtnut.com/l/_JDC3loMeDlGm
https://dl.doubtnut.com/l/_YyvPaUqbHTNQ


5.  check whether 


Watch Video Solution

2x2 − 7x + 6 = 0

x =
3

2

6. Determine whether  is a root of the quadratic

equation 

Watch Video Solution

x = − 2

2x2 − 7x + 6 = 0

7. Solve the following quadratic equations by factorisation 

Watch Video Solution

m2 − 14m + 13 = 0

https://dl.doubtnut.com/l/_ebDpx5Vnmjjx
https://dl.doubtnut.com/l/_7g3XNmpZmGaV
https://dl.doubtnut.com/l/_7GUUieiws1FZ


8. Solve the following quadratic equations by factorisation 

Watch Video Solution

3x2 − x − 10 = 0

9. Solve the following quadratic equations by factorisation 

Watch Video Solution

3y2 = 15y

10. Solve the following quadratic equations by

factorisation 

Watch Video Solution

x2 = 3

https://dl.doubtnut.com/l/_ryDsRjKqmvOi
https://dl.doubtnut.com/l/_2OTjQUXWeQv0
https://dl.doubtnut.com/l/_F1bDvNU5tJBL


11. Solve the following quadratic equations by factorisation

Watch Video Solution

6√3x2 + 7x = √3

12. Solve using quadratic formula : 

Watch Video Solution

5x2 − 4x − 3 = 0

13. Solve following quadratic equations by completing the

square 

method. 

(i) .x2 + 8x − 48 = 0

https://dl.doubtnut.com/l/_F1bDvNU5tJBL
https://dl.doubtnut.com/l/_06ET9XUnUwKu
https://dl.doubtnut.com/l/_5eHB2CPM9sJh
https://dl.doubtnut.com/l/_SUFLDPOF2Ruw


Watch Video Solution

14. Solve quadratic equations using formula. 

Watch Video Solution

m2 − 14m + 13 = 0

15. Solve the following quadratic equations equation by

using formula. 

(xii) .

Watch Video Solution

x2 + 10x + 2 = 0

https://dl.doubtnut.com/l/_SUFLDPOF2Ruw
https://dl.doubtnut.com/l/_vbSMS3fPHO8E
https://dl.doubtnut.com/l/_AbbFAwYu3STx


16. Solve the following quadratic equations by using

formula. 

(ii) .

Watch Video Solution

x2 − 2x − 3 = 0

17. Solve the following quadratic equations by using

formula. 

(viii) .

Watch Video Solution

25x2 + 30x + 9 = 0

18. Solve the following quadratic equations equation by

using formula. 

https://dl.doubtnut.com/l/_504PqYtShOPH
https://dl.doubtnut.com/l/_ssfvxHGxRomq
https://dl.doubtnut.com/l/_rTBsLNVLLxqq


(iv) .

Watch Video Solution

x2 + x + 5 = 0

19. Find the value of the discriminant of the equation

Watch Video Solution

x2 + 10x − 7 = 0

20. Determine the nature of roots of the quadratic

equation: 

Watch Video Solution

2x2 − 5x + 7 = 0

https://dl.doubtnut.com/l/_rTBsLNVLLxqq
https://dl.doubtnut.com/l/_IftBl27FCgzS
https://dl.doubtnut.com/l/_Y0nDNMrI0wLB


21. Determine the nature of roots of the quadratic

equation: 

Watch Video Solution

x2 + 2x − 9 = 0

22. Determine the nature of roots of the quadratic

equation: 

Watch Video Solution

√3x2 + 2√3x + √3 = 0

23. If  are the roots of the quadratic equation



, then find  and .

Watch Video Solution

α and β

2x2 + 6x − 5 = 0 (α + β) α × β

https://dl.doubtnut.com/l/_CzPnEv0VRvOH
https://dl.doubtnut.com/l/_78JaZvojeMYu
https://dl.doubtnut.com/l/_2QEXmYFYEz6m


24. The difference between the roots of the equation 

 is , find k.

Watch Video Solution

x2 − 13x + k = 0 7

25. If  are the roots of quadratic equation 

 then, find 

Watch Video Solution

α and β

x2 + 5x − 1 = 0 α3 + β3

26. If  are the roots of quadratic equation 

 then, find 

Watch Video Solution

α and β

x2 + 5x − 1 = 0 α2 + β2

https://dl.doubtnut.com/l/_U76n6e9RUO0K
https://dl.doubtnut.com/l/_KbNoqKHgkAWv
https://dl.doubtnut.com/l/_67dpIwmUWq6W


27. Obtain the quadratic equation if roots are 

Watch Video Solution

−3, − 7.

28. There is a rectangular onion storehouse in the farm of

Mr. Ratnakarrao at Tivasa. The length of rectangular base

is more than its breadth by 7m and digonal is more than

length by 1 m. Find length and breadth of the storehouse.

Watch Video Solution

29. Solve the following questions. 

(ii) A train travels 360 km with uniform speed. The speed of

the train 

https://dl.doubtnut.com/l/_uhdP4H5pkatm
https://dl.doubtnut.com/l/_hhWawan4y5OL
https://dl.doubtnut.com/l/_UtDyirZo4zRl
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is increased by 5 , it takes 48 minutes less to cover

the same distance. Find the initial speed of the train.

Watch Video Solution

km /hr

1. Write any two quadratic equations.

Watch Video Solution

2. Decided which of the following are quadratic equations. 

(i) .

Watch Video Solution

x2 + 5x − 2 = 0

https://dl.doubtnut.com/l/_UtDyirZo4zRl
https://dl.doubtnut.com/l/_ugaXAgTOjTon
https://dl.doubtnut.com/l/_rkN0C8IW44u1


3. Decided which of the following are quadratic equations. 

(ii) 

Watch Video Solution

y2 = 5y − 10

4. Decided which of the following are quadratic equations. 

(iii) .

Watch Video Solution

y2 + = 2
1

2

5. Decided which of the following are quadratic equations. 

(iv) .

Watch Video Solution

x + = − 2
1

x

https://dl.doubtnut.com/l/_1bbJqdaRaFq0
https://dl.doubtnut.com/l/_UlTtyF662mGv
https://dl.doubtnut.com/l/_GQ5oAeSWcDtk


6. Decided which of the following are quadratic equations

? 

(iii) 

Watch Video Solution

(l + 2)(l − 5) = 0

7. Decided which of the following are quadratic equations. 

(vi) .

Watch Video Solution

m3 + 3m2 − 2 = 3m3

8. Write the following equations in the form of

, 
ax2 + bx + c = 0

https://dl.doubtnut.com/l/_DlAptFhcuKS7
https://dl.doubtnut.com/l/_Mgjol5arBasu
https://dl.doubtnut.com/l/_iXKAJ7sXvRbm


then write the values of a,b,c for each equation. 

Watch Video Solution

x2 + 5x = − (3 − x)

9. Write the following equations in the form of

, 


then write the values of a,b,c for each equation. 

Watch Video Solution

ax2 + bx + c = 0

(x − 1)2 = 2x + 3

10. Write the following equations in the form of

, 
ax2 + bx + c = 0

https://dl.doubtnut.com/l/_iXKAJ7sXvRbm
https://dl.doubtnut.com/l/_zgaK2sKwHUBA
https://dl.doubtnut.com/l/_DIrKGoQT1Ibe


then write the values of a,b,c for each equation. 

Watch Video Solution

x2 + 5x = − (3 − x)

11. Write the following equations in the form of

, 


then write the values of a,b,c for each equation. 

Watch Video Solution

ax2 + bx + c = 0

x2 + 5x = − (3 − x)

12. Write the following equations in the form of

, 
ax2 + bx + c = 0

https://dl.doubtnut.com/l/_DIrKGoQT1Ibe
https://dl.doubtnut.com/l/_AN5k0emB1fgI
https://dl.doubtnut.com/l/_EzfHWG79NyGD


then write the values of a,b,c for each equation. 

Watch Video Solution

x2 + 5x = − (3 − x)

13. Write the following equations in the form of

, 


then write the values of a,b,c for each equation. 

Watch Video Solution

ax2 + bx + c = 0

x2 + 5x = − (3 − x)

14. Determine whether the value given against each of the

qaudratic equation are the roots of the equation. 

(iii) .x2 + 3x − 4 = 0, x = 1, − 2, − 3

https://dl.doubtnut.com/l/_EzfHWG79NyGD
https://dl.doubtnut.com/l/_RbNbM2gJApNw
https://dl.doubtnut.com/l/_kBw27rgWN8M5


Watch Video Solution

15. Determine whether the value given against each of the

quadratic equation are the roots of the equation. 

(ii) .

Watch Video Solution

2m2 − 5m = 0, m = 2,
5

2

16. Find k if x=3 is a root of equation 

Watch Video Solution

kx2 − 10x + 3 = 0

17. One of the roots of the quadratic equation

 is . Complete the following5m2 + 2m + k = 0 −
7
5

https://dl.doubtnut.com/l/_kBw27rgWN8M5
https://dl.doubtnut.com/l/_glxSkTAcEucc
https://dl.doubtnut.com/l/_JJgRZ50yMl9D
https://dl.doubtnut.com/l/_yWmAHrsRQNQy
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activity to find the value of .

Watch Video Solution

k

1. Solve the following quadratic equation by factorisation. 

(i)  .

Watch Video Solution

x2 − 15x + 54 = 0

2. Solve the following quadratic equation by factorisation. 

(viii) .

Watch Video Solution

3x2 − 2√6x + 2 = 0

https://dl.doubtnut.com/l/_yWmAHrsRQNQy
https://dl.doubtnut.com/l/_wyvx6n19AdTN
https://dl.doubtnut.com/l/_CMhUI30S6pun


3. Solve the following quadratic equation by factorisation. 

(v) .

Watch Video Solution

2x2 − 2x + = 0
1

2

4. Solve the following quadratic equation by factorisation. 

(iv) .

Watch Video Solution

5m2 = 22m + 15

5. Solve the following quadratic equation by factorisation. 

(v) .

Watch Video Solution

2x2 − 2x + = 0
1

2

https://dl.doubtnut.com/l/_b60gkv7MS169
https://dl.doubtnut.com/l/_e5jVP8mMHVhU
https://dl.doubtnut.com/l/_IKUdBsRpyQD6


6. Solve the following quadratic equation by factorisation. 

(vi) .

Watch Video Solution

6x − = 1
2

x

7. Solve the following quadratic equations by factorisation

method:

sqart2x^2+7x+5sqrt2=0` by factorisation method:

Watch Video Solution

comp ≤ tethefollow ∈ gactivity → solvethe  raticequation

8. Solve the following quadratic equation by factorisation. 

(viii) .3x2 − 2√6x + 2 = 0

https://dl.doubtnut.com/l/_DUcLm2KyhrFl
https://dl.doubtnut.com/l/_NG5pcKhFOQoo
https://dl.doubtnut.com/l/_es8rGrFCPECa


Watch Video Solution

9. Solve the following quadratic equations by factorization.

Watch Video Solution

2m(m − 24) = 50

10. Solve the following quadratic equation by factorisation.

(iv) .

Watch Video Solution

5m2 = 22m + 15

11. Solve the following quadratic equation by factorisation. 

(xi) .7m2 = 21m

https://dl.doubtnut.com/l/_es8rGrFCPECa
https://dl.doubtnut.com/l/_MKeIcO5C7Zs0
https://dl.doubtnut.com/l/_YAVce8HXOOPZ
https://dl.doubtnut.com/l/_klcWKU98bHbq
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Watch Video Solution

12. Solve the following quadratic equation by factorisation.

(xi) .

Watch Video Solution

7m2 = 21m

1. Solve the following quadratic equation by completing

the square method. 

(4) 

Watch Video Solution

9y2 − 12y + 2 = 0

https://dl.doubtnut.com/l/_klcWKU98bHbq
https://dl.doubtnut.com/l/_XvJe3pKaf5wI
https://dl.doubtnut.com/l/_fFiiVAaq32cE
https://dl.doubtnut.com/l/_jRZ7aAVRwFmp


2. Solve the following quadratic equation by completing

the square method. 

(4) 

Watch Video Solution

9y2 − 12y + 2 = 0

3. Solve the following quadratic equation by completing

the square method. 

(4) 

Watch Video Solution

9y2 − 12y + 2 = 0

4. Solve the following quadratic equation by completing

the square method. 

https://dl.doubtnut.com/l/_jRZ7aAVRwFmp
https://dl.doubtnut.com/l/_KvNewVeNgJHE
https://dl.doubtnut.com/l/_11BtF6dxh7zJ


(4) 

Watch Video Solution

9y2 − 12y + 2 = 0

5. Solve the following quadratic equation by completing

the square method. 

(4) 

Watch Video Solution

9y2 − 12y + 2 = 0

6. Solve the following quadratic equation by completing

the square method: 

Watch Video Solution

5x2 = 4x + 7

https://dl.doubtnut.com/l/_11BtF6dxh7zJ
https://dl.doubtnut.com/l/_gfC7ZkCWZVHY
https://dl.doubtnut.com/l/_53JjY5tFmqH8
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1. Compare the given quadratic equation to the general

form and write values of a, b, c: 

Watch Video Solution

x2 − 7x + 5 = 0

2. Compare the given quadratic equation to the general

form and write values of a, b, c: 

Watch Video Solution

2m2 = 5m − 5

3. Compare the given quadratic equation to the general

form and write values of a, b, c: .y2 = 7y

https://dl.doubtnut.com/l/_FqklM6sxCG6l
https://dl.doubtnut.com/l/_GXK7IN1wnYRq
https://dl.doubtnut.com/l/_3kD49Fts3TIC


Watch Video Solution

4. Solve using formula. 

(i) 

Watch Video Solution

x2 + 6x + 5 = 0

5. Solve using formula. 

(i) 

Watch Video Solution

x2 + 6x + 5 = 0

6. Solve using formula. 

(i) x2 + 6x + 5 = 0

https://dl.doubtnut.com/l/_3kD49Fts3TIC
https://dl.doubtnut.com/l/_mExlaZKvwkPv
https://dl.doubtnut.com/l/_POzDbvHWyz9y
https://dl.doubtnut.com/l/_cFtRnmW0xAVY


Watch Video Solution

7. Solve using formula. 

(i) 

Watch Video Solution

x2 + 6x + 5 = 0

8. Solve using formula. 

(i) 

Watch Video Solution

x2 + 6x + 5 = 0

9. Solve using formula. 

(i) x2 + 6x + 5 = 0

https://dl.doubtnut.com/l/_cFtRnmW0xAVY
https://dl.doubtnut.com/l/_rK5NLQZXL4dD
https://dl.doubtnut.com/l/_0xobzrY0i0fR
https://dl.doubtnut.com/l/_TbGPxU9eusl3
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Watch Video Solution

10. With the help of the flow chart below solve the

equation  using the formula.

Watch Video Solution

x2 + 2√3x + 3 = 0

1. Find the value of discriminant. 

(i) 

Watch Video Solution

x2 + 7x − 1 = 0

https://dl.doubtnut.com/l/_TbGPxU9eusl3
https://dl.doubtnut.com/l/_EAgo0NSFZJ6V
https://dl.doubtnut.com/l/_l1BEAEv97Skj


2. Find the value of discriminant. 

(ii) 

Watch Video Solution

2y2 − 5y + 10 = 0

3. Find the value of discriminant. 

(iii) 

Watch Video Solution

√2x2 + 4x + 2√2 = 0

4. Determine the nature of roots of the following

quadratic equations. 

(i) 

Watch Video Solution

x2 − 4x + 4 = 0

https://dl.doubtnut.com/l/_zmumjZjQsz69
https://dl.doubtnut.com/l/_BLGev8dbGSbl
https://dl.doubtnut.com/l/_22iSue64jXLP


5. Determine the nature of roots of the following quadratic

equations. 

(ii) 

Watch Video Solution

2y2 − 7y + 2 = 0

6. Determine the nature of roots of the following quadratic

equations. 

(iii) .

Watch Video Solution

m2 + 2m + 9 = 0

https://dl.doubtnut.com/l/_22iSue64jXLP
https://dl.doubtnut.com/l/_DwSNsI98PRZN
https://dl.doubtnut.com/l/_p8Wlal9cKOxF


7. Form the quadratic equation from the roots given below.

(i) 0 and 4

Watch Video Solution

8. Form the quadratic equation from the roots given

below. 

(ii)

Watch Video Solution

3 and − 10

9. Form the quadratic equation from the roots given

below. 

(iii) ,
1

2

1

2

https://dl.doubtnut.com/l/_b9vif2U7tZka
https://dl.doubtnut.com/l/_JwGAiLuc1Mwo
https://dl.doubtnut.com/l/_0uQSU1CMF2Kf


Watch Video Solution

10. Form the quadratic equation from the roots given

below. 

(iv)

Watch Video Solution

2 − √5, 2 + √5

11. Sum of the roots of a quadratic equation is double their

product. 

Find k if equation is .

Watch Video Solution

x2 − 4kx + k + 3 = 0

https://dl.doubtnut.com/l/_0uQSU1CMF2Kf
https://dl.doubtnut.com/l/_2Txfjt5jFuld
https://dl.doubtnut.com/l/_bUyzWt3Me9CB


12.  are roots of  find, 


(ii) .

Watch Video Solution

α, β y2 − 2y − 7 = 0

α3 + β3

13.  are roots of  find, 


(ii) .

Watch Video Solution

α, β y2 − 2y − 7 = 0

α3 + β3

14. The roots of the each of the following quadratic

equations are real 

and equal, find k. 

3y2 + ky + 12 = 0

https://dl.doubtnut.com/l/_IUzKJliwgFMW
https://dl.doubtnut.com/l/_dZ2IjniM76Jz
https://dl.doubtnut.com/l/_KkJwkeiQPTo4
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Watch Video Solution

15. The roots of the each of the following quadratic

equations are real 

and equal, find k. 

Watch Video Solution

3y2 + ky + 12 = 0

1. Product of Pragati's age 2 years ago and 3 years hence is

84. Find her present age.

Watch Video Solution

https://dl.doubtnut.com/l/_KkJwkeiQPTo4
https://dl.doubtnut.com/l/_g7qrENb4M2vF
https://dl.doubtnut.com/l/_DtFmjmJrgYv8


2. The sum of squares of two consecutive even natural

numbers is 244. Find the numbers.

Watch Video Solution

3. Vivek is older than Kishor by 5 years. The sum of the

reciprocals of their ages is . Find their present ages.

Watch Video Solution

1

6

4. Yash scored 10 marks more in second test than that in

first. 5 times the score of the second test is same as square

of the score in first test. Find his score in first test.

https://dl.doubtnut.com/l/_DtFmjmJrgYv8
https://dl.doubtnut.com/l/_5udzHYiJfGXo
https://dl.doubtnut.com/l/_9kYGspOn8AlN
https://dl.doubtnut.com/l/_WUCJnSbzwoPw


Watch Video Solution

5. Mr. Ram makes certain number of pots on daily basis.

Production cost of each pot is ₹40 more than 10 times

total number of pots he makes in one day. If production

cost of all pots per day is ₹600, find production cost of one

pot and number of pots he makes per day.

Watch Video Solution

6. Pratik takes 8 hours to travel 36 km downstream and

return to same spot. The speed of boat in still water is

12km/hr. Find the speed of the water current.

Watch Video Solution

https://dl.doubtnut.com/l/_WUCJnSbzwoPw
https://dl.doubtnut.com/l/_xFj8ycQBl49F
https://dl.doubtnut.com/l/_kH8RZhCi8IFC


7. Pintu takes 6 days more than those of Nishu to complete

certain 

work. If they work togeter they finish it in 4 days. How

many days would it take to complete the work if they work

alone.

Watch Video Solution

8. If 460 is divided by a natural number, quotient is 6 more

than 5 times the divisor and remainder is 1. Find quotient

and divisor.

Watch Video Solution

https://dl.doubtnut.com/l/_2J0aoiY6LxzO
https://dl.doubtnut.com/l/_UJfikLioi5Lz


Problem Set 2 Choose The Correct Answers

1. Which one is the quadratic equation?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

− 3 = x25

x

x(x + 5) = 2

n − 2 = 2n

(x + 2) = x
1

x2

2. Out of the following equations, which one is not a

quadratic equation? a)  b)  c)x2 + 4x = 11 + x2 x2 = 4x

https://dl.doubtnut.com/l/_o11YPkQC0zsN
https://dl.doubtnut.com/l/_6a4arnDE2MxL


 d)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5x2 = 90 2x − x2 = x2 + 5

x2 + 4x = 11 + x2

x2 = 4x

5x2 = 90

2x − x2 = x2 + 5

3. Choose the correct answer for the following questions. 

(iii) The roots of  are real and equal, find

k.

x2 + kx + k = 0

https://dl.doubtnut.com/l/_6a4arnDE2MxL
https://dl.doubtnut.com/l/_24gz8brFBWck


A. 0

B. 4

C. 0 or 4

D. 2

Answer: C

Watch Video Solution

4. For quadratic equation , find the

value of the discriminant.

A. 

B. 17

√2x2 − 5x + √2 = 0

−5

https://dl.doubtnut.com/l/_24gz8brFBWck
https://dl.doubtnut.com/l/_EG9ea0lil6TD


C. 

D. 

Answer: B

Watch Video Solution

√2

2√2 − 5

5. Which of the following quadratic equations has roots 3,

5? a)  b)  c)

 d)

A. 

B. 

C. 

D. 

x2 − 15x + 3 = 0 x2 − 8x + 15 = 0

x2 + 3x + 5 = 0 x2 + 8x − 15 = 0

x2 − 15x + 8 = 0

x2 − 8x + 15 = 0

x2 + 3x + 5 = 0

x2 + 8x − 15 = 0

https://dl.doubtnut.com/l/_EG9ea0lil6TD
https://dl.doubtnut.com/l/_Ma3YgLSymG4E


Answer: B

Watch Video Solution

6. Out of the following equations, find the equation having

the sum of its roots as -5. a)  b)

 c)  d)

A. 

B. 

C. 

D. 

Answer: D

3x2 − 15x + 3 = 0

x2 − 5x + 3 = 0 x2 + 3x − 5 = 0

3x2 + 15x + 3 = 0

3x2 − 15x + 3 = 0

x2 − 5x + 3 = 0

x2 + 3x − 5 = 0

3x2 + 15x + 3 = 0

https://dl.doubtnut.com/l/_Ma3YgLSymG4E
https://dl.doubtnut.com/l/_ftBrvWkwYJah


Watch Video Solution

7. Which of the following statement is true

A. Real and uneual roots

B. Real and equal roots

C. Roots are not real

D. Three roots

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ftBrvWkwYJah
https://dl.doubtnut.com/l/_TyFumZlxO17W


Problem Set 2

8. Choose the correct answer for the following questions. 

(viii) One of the roots of equation  is 2,

find m.

A. 

B. 

C. 

D. 2

Answer: C

Watch Video Solution

x2 + mx − 5 = 0

−2

−
1

2

1

2

https://dl.doubtnut.com/l/_xdwnjDMKZJQC
https://dl.doubtnut.com/l/_aqYGL4HCsube


1. Which of the following equation is quadratic? 

(i) .

Watch Video Solution

x2 + 2x + 11 = 0

2. Which of the following equation is quadratic? 

(ii) .

Watch Video Solution

x2 − 2x + 5 = x2

3. Which of the following equation is quadratic? 

(iii) 

Watch Video Solution

(x + 2)2 = 2x2

https://dl.doubtnut.com/l/_aqYGL4HCsube
https://dl.doubtnut.com/l/_WTNV8ZnThynY
https://dl.doubtnut.com/l/_oxeDwa6sfNAh
https://dl.doubtnut.com/l/_pb3yrZH0GmeV


4. Find the value of discriminat for each of the following

equations. 

(i) .

Watch Video Solution

2y2 − y + 2 = 0

5. Find the value of discriminat for each of the following

equations. 

(ii) .

Watch Video Solution

5m2 − m = 0

6. Find the value of discriminat for each of the following

equations. 

https://dl.doubtnut.com/l/_pb3yrZH0GmeV
https://dl.doubtnut.com/l/_9MwpCjcBn04c
https://dl.doubtnut.com/l/_cLpMta6m8o0c


(iii) .

Watch Video Solution

√5x2 − x − √5 = 0

7. One of the roots of quadratic equation

 is -2. Find .

Watch Video Solution

2x2 + kx − 2 = 0 k

8. Two roots of quadratic equations are given, frame the

equation. 

 and 

Watch Video Solution

10 −10

https://dl.doubtnut.com/l/_cLpMta6m8o0c
https://dl.doubtnut.com/l/_1NVeRjdcSdfP
https://dl.doubtnut.com/l/_BEH0zECPRYqe
https://dl.doubtnut.com/l/_0XCTZ7UnDcOm


9. Two roots of quadratic equations are given: frame the

equation. 

(ii) .

Watch Video Solution

1 − 3√5 and 1 + 3√5

10. Two roots of quadratic equations are given: frame the

equation. 

(iii) 0 and 7

Watch Video Solution

11. Determine the nature of roots for each of the quadratic

equation. 

(i) 3x2 − 5x + 7 = 0

https://dl.doubtnut.com/l/_0XCTZ7UnDcOm
https://dl.doubtnut.com/l/_yNxV7h4n5XHn
https://dl.doubtnut.com/l/_bS6etknD649s


Watch Video Solution

12. Determine the nature of roots for each of the quadratic

equation. 

(ii) 

Watch Video Solution

√3x2 + √2x − 2√3 = 0

13. Determine the nature of roots for each of the quadratic

equation. 

(iii) 

Watch Video Solution

m2 − 2m + 1 = 0

https://dl.doubtnut.com/l/_bS6etknD649s
https://dl.doubtnut.com/l/_A1iDQ3SWGkGw
https://dl.doubtnut.com/l/_apr48vHCEAza


14. Solve the following quadratic equations. 

(i) 

Watch Video Solution

=
1

x + 5

1

x2

15. Solve the following quadratic equations. 

(ii) 

Watch Video Solution

x2 − − = 0
3x

10

1

10

16. Solve the following quadratic equations. 

(iii) 

Watch Video Solution

(2x + 3)2 = 25

https://dl.doubtnut.com/l/_zAN8p2VYIY3O
https://dl.doubtnut.com/l/_AM5z0R1cECOv
https://dl.doubtnut.com/l/_1deOPWCwtZcO


17. Solve the following quadratic equations. 

(iv) 

Watch Video Solution

m2 + 5m + 5 = 0

18. Solve the following quadratic equations. 

(v) 

Watch Video Solution

5m2 + 2m + 1 = 0

19. Determine the nature of roots of the following

quadratic equations. 

(i) 

Watch Video Solution

x2 − 4x + 4 = 0

https://dl.doubtnut.com/l/_ypzpmQbIrpQl
https://dl.doubtnut.com/l/_WcURdeG3p2aG
https://dl.doubtnut.com/l/_qxf8Z2v5XHC9


20. Find  if  has real

and equal roots.

Watch Video Solution

m (m − 12)x2 + 2(m − 12)x + 2 = 0

21. The sum of two roots of a quadratic equation is 5 and

sum of their cubes is 35. Find the equation.

Watch Video Solution

22. Find quadratic equation such that its roots are square

of sum of the roots and square of difference of the roots

of equation 2x2 + 2(p + q)x + p2 + q2 = 0

https://dl.doubtnut.com/l/_qxf8Z2v5XHC9
https://dl.doubtnut.com/l/_Cr2j0UZDRGrD
https://dl.doubtnut.com/l/_u9WLmUDUm1qC
https://dl.doubtnut.com/l/_d3DWczt2hPuL


Watch Video Solution

23. Mukund possesses ₹50 more than what Sagar

possesses. The product of the amount they have is

₹15,000. Find the amounts each one has.

Watch Video Solution

24. The difference between squares of two numbers is

120.The square of smaller number is twice the greater

number. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_d3DWczt2hPuL
https://dl.doubtnut.com/l/_AONtYS8amYVJ
https://dl.doubtnut.com/l/_Z095mLpe89Gk


25. Ranjana wants to distribute 540 oranges among some

students. If 30 students were more, each would get 3

oranges less. Find the number of students.

Watch Video Solution

26. Mr. Dinesh owns an agricultural farm at village Talvel.

The length of the farm is 10 meter more than twice the

breadth. In order to harvest rain water, he dug a square

shape pond inside the farm. The side of pond is  times of

the breadth of the farm. The area of the farm is 20 times

the area of the pond. Find the length and breadth of the

farm and of the pond.

Watch Video Solution

1

3

https://dl.doubtnut.com/l/_v5NJJVAqs1x2
https://dl.doubtnut.com/l/_KmjmIWNTrLwr


27. A tank fills completely in 2 hours if both the taps are

open. If only one of the taps is open at the given time, the

smaller tap takes 3 hours more than the larger one to fill

the tank. How much times does each tap take to fill the

tank completely?

Watch Video Solution

https://dl.doubtnut.com/l/_KmjmIWNTrLwr
https://dl.doubtnut.com/l/_2DFfC8nW8uWq

